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aps”  x aUu~luaPran”7~w”g~(aJ~~

-ilLG TR = px = lx

&i~M&MU~  TC = TFC + vx  = 50,000+2x

TR = TC

7x = 50,000+2x

5x = 50,000

X = 10,000 A
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16
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12

12

IO-6
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16m  12

1 6

x 40 = 20

x 20=12

x 2 5 = 13.89

x 15 = 9.38

55.27

x 10 ,000 = 2,500

x 6 0 , 0 0 0  =  24,OOJl

$38,500
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$30,000

38,500

$8,500-

vi-in

Flats

Evening

Bedroom

%lRl"UlFl

$ IO

20

16

6

86
IO-6

1 0

20-12
20

1 6 - 8
16

6 - 3
6

x 60,000 = 24,000

x 10,000 = 5,000

x 5,000 = 2,500

$41,500

TFC = $8,000, v = 3, p = 8

h"b~~Yli  = TR-TC = px-(TFC+vx)

= 8:<44,OOG  8,000-3 x4,000

= 32,000-20,000

= $12,000

%PansGiw~7na&nv=muGi  6,000 a&J, p = 6, v = 3, TFC = 8,000

iilYbX@ = 6x6,000-8,000-3x6,000

= 36,000-26,000

= $10,000
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~uns~wuln~sdnls~l~~~  10,000 b&J, p = 4.50, v = 3, TFC = 8,000- -

fil!:iqYlf = 4.5 x 10,000 - 8,000 - 3 x 10,000

= 45,000-  38,000

’ TC, = TCI

20,000 + 14x = 4,000 + 1 6 x

2x = 16,000

x = 16,000__  =2 8,000 v7l.hu

TC, = 20,000+ 14 x 8,200 = 20,000+ 114,800

= $134,800
-
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TC2 = 4,000+  16~8,200 = 4,000+ 131,200

=  $135 ,200

3lfJ!+i  TR = px

&Yj”  T C  =  TFC+vx

b&l p = 10, ” = 3, T F C  =  $ 3 5 , 0 0 0 ,  x  =  ~~~U8J?U

TR = TC

10x =  35 ,000+3x

7x =  35 ,000

X =  5 , 0 0 0  HPiaer
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1Oy  = 42,000+3y

7y = 42,000

y = 6,000
I.

~$W@hJu”U  =  6,000-5,000  =  1 , 0 0 0  Hti’X

$40,000

53,000

30,000

l~.OOO

8,000

16,000

18,ooo

$180,000
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8($)+12(%)+16(f$  = *5,000+3(~)+3($)+3(~)

= 85,000+3x

+3x = 85,000

x = 85,000x  10
86

= 9,8S3.72

= 9,884 &I9  (&.W  27 lb)
es% 100~9,884

18,000 = 55 nk&hbA

. 38,000 =. . 8 lo +12 G +16 lo -(85,000+3y)
("')  ("1 ("'j

116~= ---3y-85,000
10

86y  _-IO 85,000+38,000 = 123,000

Y =
123,000x  10 =86 14,302.25

= 14,302 ?&I.3  (40 VbiO&A)
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= 2.50x26,000-(25,000+.50x26,000)

= 65,000-25,000-13,000

= $27,000

W~JRIPsPln~n~as~n~~~~~  = TldtLhwphwl

= 2.50x26,000-(10,000+1x26,000)

= 65,00&  lO,OOO-26,000

= $29,000

wcwat~u E1~~~w~R~er~llilai9~~n3sa~anl~~cli~~~nsit~~~lpaoiii bW3lZ

a~wa~ilauinn~i9in~l~~nl~~~~~~l~~~~~
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